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34.
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P 37.

B linux k¢ > TAR- B4 £ ot kg Software RAID ?

(A) mkfs (B) mdadm (C) pvcreate (D) fdisk

& linux & sué » T F|eR— Fan & 7 i BXT2 Hh % i Bk {ﬁ%:‘:?]%iﬁﬁﬂ;{ Fooow AN
RALILZ FhE Gk SenT i ?

(A) tune2fs (B) mke2fs (C) e2fsck (D) dumpe2fs

e linux & su? o 3R mv 4p 4 & Shell ¢ ehi®* 5 7= 5[wmitsg g ?
M)ﬁﬂﬁﬁﬁﬁ(ﬂ)iﬁﬁﬁﬁﬁlm)%%%ﬁ(ﬁ)éiiﬁ%

B touch dp 4 ehkcif » T AR g D

(A * k4 RMHE B) * k& Pk (O &8s BHEE (D) (ATHEP D

flinux, i sod > TRVR- gEd £ 0 R AR ARk CRRNEFE f Y R inE ? 38.

(A) locate (B) find (C) whereis (D) file
EAER AR BT 2k E WPA A 2 @ % WEP a2 d §2
(MDWPA eh & 4g£ R E ¥ ¢ 38k F ~(BWAP ch & 4k € & i sc %
(COOWAP # r1 e MAC = ht B pde 8 % 212(D) 0 b 3 A

tjava s P oo TAR- BEAAEF LLRFTHAIL?

(A) double(B) String(C) array(D) object
F41T Java fE BB L R0

Map<Integer, String> books = new TreeMap<>();
books. put (1007, “A” ); books.put (1002, “C" );
books. put (1001, “B” ); books.put (1003, “B” )

System. out. println (books); 39.
(A) {1007 = A, 1002 = C, 1001 = B, 1003 = B}

(B) {1001 = B, 1002 = C, 1003 = B, 1007 = A}

(C) {1002 = C, 1003 = B, 1007 = A}

(D) {1007 = A, 1001 = B, 1003 = B, 1002 = C}

b BT RB @Y TP T Java #4258 PF 0 args. length eniE &% 4 ?
java sample sample testing

(A) 0(B) 1(C) 2(D) 3

fojavaiE s v o0 TR - i EAE R eAE?

(A) int[ ] x = {1, 3, 5};(B) double[ ][ ] = new double[3][5];
(C) int[ ][ ] x = new int[3][ ];(D) int[ J[ ] x = new int[ ][3];
£ T Javadg st BB ’ﬁﬁﬂ:é e ?

public static void main(String[] args) {

20;

0;

int num

int sum
for (int 1 = 100; i >= num; i /= 3) {
sum +=1;

}

System. out. printIn(sum);

}

(A) 133(B) 134(C) 135(D) 136

-4 T Javadg st BB ’ﬁﬁﬂ:é e ?
public static void main(String[] args) {
9;

int sum = b;

for (int i = 30; i >= num; 1 /= 2) {
sum +=1;

}

System. out. println(sum);

}

(A) 57(B) 58(C) 59(D) 60

£ T Javadg st BB ’ﬁﬁﬂ:é e ?

public static void main(String[] args) {

int num

int x = 20;

int a = x-=2;
int b = x+=2;
int ¢ = x/=10;

int d = (a>b)?a:(a>c)?a:(b>c)?b:c;
System. out. println(d);

}

(A) 17(B) 18(C) 19(D) 20
FH4E T Javadgst B B R Ao ?
public class Test<T>{
private T t;

public T get ()

return t;

}

public void set (T t){
this. t = t;

}

public static void main (String args [ ] ){
Test<String> type = new Test<>();

Test type 1 = new Test ();//line nl

type. set( “Java” );

typel. set(100);//1line n2
System. out. print(type. get() +
}

}

(A) Java 100

(B) java. lang. string@<hashcode> java. lang. Integer@<hashcode>

“ 4+ typel.get());



40.

41.

42.

43.

(C) A compilation error occurs. Torectify it, replace line nl with: Test<Integer> typel

= new Test<>(); 44,

(D) A compilation error occurs. To rectify it, replace line n2 with:typel. set
(Integer(100));

G40 T Javafg st B ﬁ%]m ESIe

public static void main(String[] args) {
int a[J[] = { { 5, 10, 20}, { 41, 81, 51 },
System. out. println(average(a));

}

{31, 20, 11 } };

45.

public static double average(int arr[][]) {
double sum = 0.0, count = 0.0;

0.0;

for (int 1 = 0; 1 < arr. length; i++) {

for (int j = 0; j < arr[i]. length; j++) {
if Carr[i][j]>10) {

sum = sum + arr[i][j];

double ret

count+t+;
}
}
}

ret = sum + count; 46.

return ret;

}

(A) 259(B) 260(C) 261(D) 262

ip % cat —n < testl > test2 £ H AT AVi- FE LY
(A) #-testl & & 7| test2

(B) #-testl & ¥ 7| test2

(C) #-test2 & & 7| testl

(D) #-testl 4 » 75L& ¥ 7] test2

EH4F LT Javadzst B R S w7

public static void main(String[] args) { 47.

int x=5;

int y=10;

int z=t+x¥y—-;

int n=x— + +ty;

System. out. print(z+" ");

System. out. print(n);

}

(A) 57 13(B) 58 14(C) 59 15(D) 60 16

ok g - VT e K LF W 5 ip:10.118.18. 129 ~ subnet mask:255. 255. 255. 192 » 3k
TYR- B ipEF T “’m;q‘default gateway?

(A)10.118.18.254 (B)10.118.18.126 (C)10.118.18.183 (D)10.118.18.1

FEPT JavafE PR B R L RY

List<Integer> values = Arrays. asList(1, 2, 3);

values. stream()

.map(n—>n*2)

. peek(System. out: :print)

.count();

(A)246(B)The code produces no output.

(C)A compilation error occurs at line nl. (D)A compilation error occurs at line n2.
FH4E LT Javadgst B B R AeR?

Stream<Path> files = Files.walk(Paths. get(System. getProperty( “user.home” )));
files. forEach (fName -> { //line nl try {

Path aPath = fName. toAbsolutePath(); //line n2

+ Files. readAttributes(aPath,
Basic.File. Attributes. class). creationTime

O);

} catch (IOException ex) {

System. out. println(fName + “:”

ex. printStackTrace();

DK

(A) s d A p&rT™ehirg 2 24op 452 4
(C) s pake enz 22 HEMD) #
G4 T Javafg st B ﬁ%]m ESRGANS
public static void main(String[] args) {

Y ()%nlﬁ*m%ﬁﬁﬁ
nZ 7 1R e

int x = 20;

int a = x-=2;

int b = x+=2;

int ¢ = x/=10;

int d = (a>b)?a:(a<c)?a:(b<c)?b:c;

System. out. println(d);
}
(A) 1(B) 2(C) 3(D) 4
41T Java 423 7 B e Aoad R
class MyThread implements Runnable {
private static AtomicInteger count = new Atomiclnteger (0);
public void run () {

int x = count. incrementAndGet();

System. out. print (x+”  “);

}

} and
Thread threadl
Thread thread?2
Thread thread3

new Thread(new MyThread());
new Thread(new MyThread());
new Thread(new MyThread());



48.

49.

50.

Thread [] ta = {threadl, thread2, thread3};

for (int x= 0; x < 3; xt+) {

ta[x]. start(); }

(A) The program prints 1 2 3 and the order is unpredictable. (B) The program prints
1 2 3. (C) The program prints 1 1 1. (D) A compilation error occurs.
EH4F00 T Javadz st B0 T gt R L R

1 public class testl3 {

2 static int extra=300;

public static int changePoint(int point, Boolean bonus, int extra) {
if (bonus==true) {

pointt=extra;

}

return point;

}
9 public static void main(String[] args) {

o 31 O O1 &~ W

10 Boolean bonus = true;

11 int point = 10;

12 int newPoint = changePoint(point, bonus, 100);

13 System. out. print(point);

14 System. out. print(newPoint);

15}

16}

(A) % 4 {7 bonus 1 5 false(B) % 5 {7 extra g % 300

(C) % 77 point e 5 110(D) % 13 7 point 7iE 5 110

% % Linux &> TR gf - RE 7 2 H b B R E R

(A) swap(B) /tmp (C) /var(D) /usr

Ehmxﬁﬁﬂ’j—%ﬁiﬁﬁﬁ1ﬂ)zﬁ$E@AM%~&§~%%§%i‘ﬁ’

TR - S dn & R R R

(A) chmod o-w foo (B) chattr +i foo (C) chattr ta foo (D) chmod 644 foo
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